)89.

)90.

)91.

)92,

¥93.

)94.

325

)96.

Y97,

)98.

)99,

Ha=5+5 ~ 6=2V3+3J2 » c=215 ~ d=10+20 > Hla - b~ c~ dHyK/NEE

& Af ?
(Aya>b>c>d B)b>c>a>d (C)e>b>d>a D)d>b>a>c

[ 51 a-b=343 ~ b—c=2-3W HI a*+b*+c*-ab-be-ca= ?

(A) 44-33 (B) 23-43 (C) 22+43 (D) 44+23

Ha=v2+3 ~ b=v2x3 s Hla~ b A/ NEE BB IT 2

(Aya>b B)a=b (C)a<b (D) fEHR]

#2a+3b =0 » HI25-6a—-9% —?

(A)3 (B)4 (C)S (D)6

#0243 = a27 = b3 ~ 2445 =20 = n180 > HI atb-m-n= 9

(A)-9 (B)-4 (C)6 (D)12

gﬁé’_\]zﬂi +\/258i =9
256 256

(A)16 (B) 16% (C)32 (D) 32%

1 1 1

1
=9
JT+2 J0+d7 T30 4443
2 2
(A)-2 (B) 3 (©) s (D)2

1L

Wi 2 =
ﬂﬁﬁl G ?
) J6 - J' ®) JE+J' J'—JE ) 2+6-42

2

{[:F"%\/_Z——\/_8+3\/17——\/57— — 9

Wo ®) V5 © W5 @) =45

B0 175 =13.229 ~ V1750 =41.833 ; EJJJ% — 9

(A) 13229 (B)2.6458 (C)8366 (D)4.1833
12 +27+J75=a » Hla=?

(A)150 (B)210 (C)280 (D) 300

)100. AEfE 7 -5 1y — 2

)101.

ANV +V5 BT -5 (©) “E;ﬁ (D) ‘ﬁ;‘g
3 3x+6=418 » Hlx=?



102,

ez

)104.

)105.

)106.

)107.

)109.

)110.

YT,

Y112,

TS,

y114.

(A) V6 B) 343 (©) 2¥6-v3 (D) 2436
#3(x-2)=v2(x-3) * Hlx=2 (A) -5v6 B) -6 (C) 12-v6 (D) 5v6

AR | OB TR ARR ST 2 a8 S oL
A4 BB (©C DD

1
10 11 12 13 14 15
s 1
%m——————:mJE+nJ§=EUm—n:?
542 -24/5

1 1 2 1
(A) g‘(B) 0 ©) I (D) 30

#Ea=7 ~ b=—3 » Hi(a-by+2ab— ?

(A) 2421 (B) 4 (C) 2421 (D) 10
V3 3

e 1 N3, 1 35 o
fbﬁﬁﬁ(z 2)( 2+2) .

1 1 1
@ -z @ -l O &0 =

Lot 1_\/5_\/6 9
tha'ﬁng+ T :
(A) V6+/5+11 B) V6+/5-1 (C) V6-5+11 (D) V6 -/5-1
. MRBAAER 0 2K V0.063 HYAT U ZI /N EE —Air - NIV | Jiov
(A) 0.25098 (B) 0.79425 (C)1.66452 (D)25.0985 62 | 7.874 | 24.899
64 | 8.000 | 25.298
fRiEA SR > SR V576 BT AT/ NS A7 - 66 | 8.124 | 25.690
N 68 [8.246 | 26.076
(A) 7j%32 \/1%3) 37.5894 (C)7.6949 (D) 7.7165 7o 8366 | 3645
Y= =0
32

(A) 5V5+3V3 B) -3v2+343 (C) 6J5-24B30"(D) V5+33+3v2
FE N2+ VT (V2 +45-47) = 2

(A) V1014 (B) V104435 (C) V14435 (D) 40
Ea=1+y2- + b=1-V2+3 » H 2+H*= 9

(A) 12-46 (B) 6-2/6 (C) 8+46 (D) 12+2V6
(-3 +36)(1 443 -6) = 2

(A) 6J3-8 (B) 6J6-8 (C) 6J2-8 (D) 12

Ea=3 42 - b=3-VZ H e =7

(A) V2 B) V3 (€) V6 (D) 243



)15, #atb—15~ab—36 EUJE+\/§ ?
a b
(A) 16 (B)2 (C)2.5 (D)3.6
)116. TAIV29 =5.385 » 261 AYREEERSY B a » Hl (a+9) HIP AR B 2
(A) £245 (B) 246 (C) +5 (D) *6
YT, BHEL(+35) +5(5+45)5-+/5)+(5-+/5)" = ?
(A) 50-55 (B) 55+54/5 (C)55 (D) 160
Y118, LR +V3)’(W3-2)=7?
A) —v3-2 @) V3-2 W2 O -V3+2
45-32
— 9
Y119, B 4J§+3J_ .
(A) 95*8‘% (B) —49;?‘/1_0 (€) 825‘/5 (D) 1.5-0.4410
)120. %5 T—af HiJ a+6%‘?
A) V5 ®B) % (©) —‘@ D) V7
121, #a=5001-+/5000 - b—Jsoo 24999 - Hia~ b A/ NER B BT 9
(Aya>b (B)a=b (C)a<b (D) #EFH]
1122, #Ea=5-v6 ~ b=v6 -7  c=N7-8 > Hila~ b c HIARABAEE 2
(Aya>b>c (B)b>c>a (C)c>b>a (D)b>a>c
ap V2 746 V2 9\/—
)123 D+#(Jg_ 2\/§+1 ! (A) T—Z\/g-Fﬁ (B) _ \/_
©) %uf—% (D) i— 243+ ‘/_
L A5-AB Js+3
124. = | ?-b*= 2
et o - S G
(A) —-16J15 (B) -815 (C) 3+8/15 (D) 5+5415
125, F x Rl H6<Nox® <21 Hil x A% ?
(A)6 (B)8 (C)10 (D)I12
)126. EiEFK Ta@b=atb-ab, - HIGT-2)@WT7+2)=2
(A) WT-6 B) 2d7-3 (C) 247+3 (D) #7+6
2a+J§b:J§+4J€
127. #& s Hl ab= 2
: E{ﬁa—3b:—3s/§+5\[6_ Ak

(A)2 (B) 3W2-5v3 (C) 43-2/6 (D) 6v2-36



3443 3—af3

128, Fx="" y=— o Alephy’= 2
(A) 33 B)6 (C) 63 (D)9
1129, # x =210 +4/41 > [Jx———‘7
(A) 2410 (B) 241 (C) 410 (D) V41
)130. B GYS -7)* G+/5) = 2
(A) 1024 (B)2048 (C)3072 (D) 4096
L A e e T T T T
(A) V2446 B) V2-v6 (C) Jo-v2 (D) V2x/6
Y132, E x>0 Ex+%:23 ﬁﬂJﬁ%?
(A) V23 (B)5 (C) 33 (D) 429
)133. #x* =52+4/145 > HITERE x M 7AUEmER S [ 2
(A)7~-8 (B)8~9 (C)9~10 (D)10-~ 11
1134, #\16-6v7 =a—B » Bl atb=?
(A)-4 (B)6 (C)10 (D) 13
)135. #4/9-6v2 =va—vb > Hlatb=?
(A6 (B)7 (€)8 (D)9
1136, £ (-2)°LN22 O\(-2) =0 » FEL RO IE( A EAHRERFSE » FIIBtSFtpkr 2
B~ t B +5% €+ odD) —
)137. %x:‘ﬁ;‘g \y:ﬁ;\g H FP = 9
(A)4 (B)S (C)6 (D)7
Y138, ZELR y = Sx+a B (5, -2) » Hifa= ?
(A) -7 B) -2-v5 (C) V5-2 @) 5v5-5
1139, #x=5+3 + y=+/5-3 5 B ¥}y 3x-3p+6= 2
(A)12 (B)20 (C)32 (D)40
Y140, #Ex+y=—5 + xp=2-+/5 » H| 3x*43y*= 9
(A) —27-6/5 (B) —27+6J5 (C) 3-6/5 (D) 3+65
¥4l & {jﬁf‘/y__zj Hllx+2y=7? (A)71 (B)89 (C)99 (D) 101



1142 AL -4)? +J (5 -V3) +(5-3)* = 2

A) 7-7-3 @) 2=1=%5 () 1-7-v5 ©®) T-z-
\/§+\/§+1 2_(\/§—J§+1

=LEy 29
¥143, FE( ‘\/E ) \/5 ) {
A) V15443 B) V15443 (©) V151243 (D) 2/15+243
V144, 2 =1+ 11 " Hija="
2+
2+a

(A) V2-1 ®B) V3-1 (O) V5-2 (D) V8-2

)145. E%[Ixy?’:o’%x—gy ’I;![J\/x2+y2 :\/xz_yz 23
(A)2:1 (B)3:1 (O)5:2 (D)5:4

)146. EFEIV197x199%201x203 +16 =

(A)3993 (B)3995 (C)3997 (D)3999

A7, 5 0<nL] ¢ E\Ij\/(x+l)2_4_J(x_l)l+4 =9
X X

A -2 ®) -> ©/D) =
X X

7148, F -1<x<0 Elj\/(x+l)2_4+\/(x_l)2 +4=9
X X

A)-2x B) -2 @2 D) 2
X X

Y149, % a<0- <0 HJa? —vBt =2
(A)a-b B)a+b (C)-a-b (D)-a+b

Y150, BHlx#0 ~x#1 H [ T=x| =1— | x| » Bl|/(x-1)’ =2

(A0 B)1 (C)x-1 (D)I-x xelLah ﬁ m
)151 *E%E%‘% ? E%D X %E%E& 2 E. 10x H'Jﬂfilzﬁﬂ% 30 | 6400 |8.944272 |28.28427
B 911 (PURRFH A - E'Jﬁ — 81 | 6561 9,000000 |28.46050

82 | 6724 [9.055385 |28.63564

(A) 8.944272  (B) 9.055385 83 | 6889 |9.110434 |28.80972
(C)28.46050 (D) 28.63564 84 | 7056 |9.165151 |28.98275

Y152, "RHIRCHA g ?
A) V223 24E  (B) Bz —3.1415 > BIJ(3.14-71)’ =1-3.14

©) 1%:1% D) (5 +4/10)° =15+1042

)153. BEHIE - Z ~ WEMEE AR RESREVT V13 ~ J19-415 ~ J23-19 >
HIEE « Z ~ PITATRE A INBRM G R T 2



(A) H>Z>W B) Z>A>H (C) I>Z>H D) B>H>Z4
Y154, Al KBRS ZREIY 2 % BB RENFE R RS —
RERY 2 5 B=RENFE R/ NEIBIY 2 7% 5 F et Eh o
LLo & o EES 4757 PN » Al RBRIER &N 7
(A) 20§42 (B) 203 (C) 4042 (D) 403
V155, NE{EB TR B R [8] — [V | 6554890 282842 » Bk
waE (2] — eSS —EEEK 2
(A) 0707106 (B)0.771060 (C)1.41421 (D)1.12414

Y156. 8T E J_ \/7 \/72{3%17‘? S 10001-17,

(A) f ®) % ©) g D) i

ST, B 1 442 {7 ? RN 1

5 7 7
(A)ZE (Biosy G B

)158. NHUBEE AR RS - T e R R 9902-27
(A8 +2  B)V8x2 (C)V196 —/4 (D)V196 /4

1159, FEEN147 — 75 + V27 2 57 2 R 1004
(A)543 (B)3343 (C)3411° (D)9l
SIS — " s BB e ! ! | S 1 1 .
160 BAY=Vx +fit] - B o St ao |
KA ARG n -~ ntl 2 Kn— 2
(A)7 (B)8 (C)9 (D)10
Y161, Ea=2+446 ~ b=3+47 ~ =20 » Hla b~ c IA/NBIG T 2

(A)ya>b>c (B)b>a>c (C)yc>a>b ([D)a>c>b

1162, Tlla=35+6 » 3 b B a H/NEERSY 5 R ab— 2

(A) 242 (B) 33 (©)9 (D) 12
)163. Ea*=18 ~ 3*-16=0 H|a-b NEAE=?

(A) 3\/5+?/§ (B) 3(—?5 (€) ?ﬁ (D) g«/?

1 3
Y164, 7R i
G d8 T BT B

(A)7 (B)S (©)9 (D)10

Z [l B el

1 1 1
ff "CE5F II

(A)a>b>c B)b>a>c (C)c>a>b (D)a>c>b

V166, FFEN2 %3 x5 =2 (A) 303 (B) 30J6 (C) 603 (D) 6046

)165. Ea Hlla b~ e FYAR/NEER R i 2



